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Please read this information before the examination starts.

e This examination is 60 minutes long.

e All questions should be attempted.

e A row of dots .......... denotes a space for your answer.

e You must show all your working or you may receive no marks.

e Answers given as fractions should be reduced to their lowest terms.
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. The Martin famlly have a snack at the station cafe.
Mr Mamn buys a mug of coffee for 95p and a packet of btscwts for 49p

(1) How much does Mr Martin pay altogether‘? el @.j'

.~ Answer: £ .5l

~ Mrs Martin pays £1.17 for a cup of tea and a packet of biscuits.

(i) the biscuits cost 49p, what is the price of the cup of tea?

£ Answer" ..... i e s st iises p (1)

The 3 chlldren each eat a sendwmh costmg £2 85 e o

(m) What is the total cost of the 3 sandw:ches'?

- - e e e e Answer £ ....;..,L " ........ )
Thoy pay £2 22 altogether for 6 tdentlcal packets of cnsps

(IV) What is the cost of 1 packet of cnsps'? '

LR

ANSWEr: .....cvoveieie, TULE I . wp (1)
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2. (&) Write £2.10 as a fraction of £6 in lowest terms.
-Arl-\swer. ' 5‘ ."- BEEiana - . ! .. | (2) i
(b) Whatjs18% ot .xg
o Answer: £ e ¥ 1 2)

e

JRAT R o ANSWET Lov.iienniiiineeesesin s esnnins (2)

3. Calculate
) 24x04
& ; ,
. - ANSWEL: oo, A s eereceeeenereerenae (2)
(iiy 240+ 0,%

S ANSWET! cevveiovesnensieeens ..... NN (2)
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4. (a) 180 centimeires of cord are needed to make a Sk!pplng rope. o

, . ~
How many metres of cord are needed to make 25 of these - A \
skupplng ropes‘? o : _

ANSWET: v, caivsnssssecmssnnes TN (2)

S el (bY Atotal of 3 kilograms of jam is needed to fill 8 identical pots.
- 7" How many grams of jam does each pot contain?

e

- Answer: ..... g (2
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(b) Calculate the value:fof (1—;—_) -5 e e I T e, T
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"‘(C) i) Write B4 as a E’fﬂFflin of primo factors

-~

i

(n) Gwen ihat 31a = 30K 5 x7

 Using indices,

ANSWEE o . desreinsii {25

what is the largest number whxch leldC“ exactly into bolh 84 and 3157

6. (a) Simplify

(i),Saé —7a+2a=~58
(i) @5’

o 1865
12¢

“(b) Multiply out |

2d%(d* - 3)

A AnAdrnnl

.,Answer: ., ; (_1)_“:?‘
‘Answer:_' ..... ......... ‘ ..... : .. '(2}" :
Answ.er:'......._. ...... 7';"""';';"'7'."'f' ;2_) |
Ansv;éﬁ ..... S .. ‘{2}'
Ansv;'er: @2
Turn over .
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7._'(a)-G’|ven that = x = =4 y 2 and zZ= -1 'fi'_n-d the value of

(1) 3x 4y

P ':..:_ 5
Taew pavey
-

% _Answér:‘...........: ..... o emee ) (i)

(i) 2xy ~ 52

Answer: ... ey ey e 2 |

(i (x= 2% |

-'Answer:
PR
iv) Y £
( )_ =

(b) The perlmeter (P) of a rectangle is g:ven by the formula P= 2(! +w)
- when [ is the length and w is the width of the rectangle.

Calculate the value of w when P = 120 and 1 = 36

 Answer: w =, I S— '



8. (a) 5 friends order a Grlanr.P:’zza |

Sam eats ~ of tho przza Tim eais
" and Matt eats 8 of it.

(i) What fraction of the p_iiz\a'dcbs_";lm, Tim and Matt cat altoge'ther‘é

Ruth and Sarah share the rest of the pizza equally between them

(u) What fractron of the pizza does Huth eat?

Wy

. ANSWER coireeervennsann: e (2)

Answer: ......

’ '(b) Auntae May uses 2 - of a ball of wool to knit 1 sock for Baby Bob

How many balls of wool does Auntre May need to knit 1 0 socks for

Baby Bob? .

{c) A maths Iesson lasts for 40 minutes.

- Answer: .......

........;._--.....'..:..-- (2) .

In the summer term, Maria has 30 hours of maths lessons

How rnany maths lessons does Maria have in the summer term?

ANSWET: vvvereresreiisresans
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9. Boxes of chocolates are produced in 3 sizes, ,
Each box only contains toffee or soit centres in the ratio5: 7

(i} The small box of chocolates containg 10 chocolates with
toffee centres, -

- How many chocolates in this box have soft centres?

A,-I e | =

(i) The medium qu of chocolates contains 28 soft cehtres._ |
- How many chocolates are there altogether_ in this box?

(iii) There is a total of 108 chocolates in the large box. . 5,
How ma'ny chocolates in the large box have toffee centres?

. , | o
e —— T R {2}

. SA.28310326 o 8



10. Otly has a set of Victorian kitchen scales. \
They are marked in pounds (Ib) bui Olly's cookbook uses only kilograms (kg). -

A
31~ A L

, 3
Kilograms
(kg)

: pounds (Ib)

- To solve the problem, Olly draws a graph to convert pounds to kllograms
Olly knows that 11 pounds = 5 k;lograms

(i On the grid above draw a line to COnvert masses up to 11 pounds into kilograms.  (2)

Use the graph to answer the following questions, show:ng clearly where you take f
your readings..

(i) O!Iy needs 31 Ib of stewing steak.
What is this mass in kg?

Answer: ............................................ kg (2)

~(iii) Roasting a turkey takes 20 minutes per ib and then an extra 20 minutes.
What is the roasting time for a turkey with mass 4.6 kg?

~ Answer; ..... VRO WODUR SAO—— | . I -

2L PARINTSS : ' ERREY - T : " Turn over
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(a) -Answer the following Vp‘arts _oh the grid above.

(i) Draw and label the line x R |

(ii} Reflect triangle A in the line x = =1
Label the image B. e

(i) Enlarge triangle A by scale factor 2 with centre (3, 5).
Label the image C.

(b) Describe in

detail the single transformation which maps triangte A on to triang'e D.

..................................................................................................

..................................................................................................
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2. AB_CD is a rhombus in which AB = é_centimetres
- and angle ABC = 120°
(i Construct the rhombus accurately.
- {AB has been drawn for you.)

(i) Draw in the lines of symmetry of ABCD.

(i) Measure and write down the length of AC.

(iv) What type of triangle is triangle ABD?
(v) Calculate the area of ABCD.
OV A AnAdnnnae _—_— . 3 14

B o . _ . o {3}
(-

L RSN e €M (1)

. R TLI N

LT e’ (2)
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13. The freezer at Scrooge’s Store is stocked with different birds for Christmas

There are 18 chickens - 7 _ |
| - ' : : F?Z—WET ;__H_l.

26 turkeys .
10 ducks - o J’D"

6 geese

Scrooge wants to draw a pie chart to show this information

: (i) How many degrees will _represent‘oné bird?

Answer: ................. (1)
& -Dr"_“w a4 fully-labe[led“ P‘e chart to Show the information | Q
4)

12
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Before he makes any sa!e Scrooge takes deiwery of 12 more geese
He draws anotﬁer pie chart to mclude these bzrds

i) What fract:on of the new p;e chart wﬂl now represent the geese’-’ ‘

CANSWET: i eereieeeeernneens S

{iv) Scrooge sells turkeys for £t each and chxckens for fc each
(a) 1 turkey and 2 chickens cost £21

Wirite this m‘ormatlon as an equatnon in terms of a‘and c.

ANSWET eovevereneerieearnns et X

{b) Aturkey costs £9 more than a chicken.

Write this information as an eQuatioh in terms of tand c.

i

ANSWET. oviieeciisarmnsesrsmssnnnsiaaasas

{c) Solve the eduaﬁdns simultaneously to find the cost of a turkey.

Answer: £ .........

SA 28310326 S




14, The patters below are made up of eqmlatcral trmngleu each of sido centimetre w;th

do's at each vertex.

- patiern 1 . patem?2 * pattem 3
. . ° . .. e . N A
. N ¢ & .
A A AN
SRR -/\/\ yAVA
® ’;o @ . [ .. . o o 3
(i) Draw pattern 4 below
¢ o . ° o e - . . " . . .
e o & s e -, . '_-7 o o e .
. . e o o o | ¢« e e |
- '° ’ . . ° ® s 9. e ... e .o
(i) Comblet,e the table below.
%aﬂern number "o 2 3 4
|. number of-1-cm triangles 1 4
| tength of perimeter.' incm 3 | 192
Lnui'nber of dots 3 10

(1j
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TURN OVER FOR QUESTION 15

A.nlsw_er; ......... T — wnesipony sesslig O (N

(iv) Whatis the pattern number it the perimeter is 225 cm long?. .
N R — ..... Fewgpenber i S (1)

" {v) The tdt;fd number of dots, d, in pattern n is given by the formula

| - _P+%ni2 '
~Using trial and improvement, find the pattern number which has 300 dots.
n R 8n n+3n+2- | Dtonte +g”+2
10 100 30 .| 182 66

CANSWET N = s R - {4)



15. At Noah's Little Zoo there are just 3 chimps and 2 gorilias. s
The mean number of bananas eéaten by a chimp is 20 per week. | g ~4 \i
The mean number of bananas ee-«'gn by a gorilla is 30 per week.

.,,-»»_:,‘:
7
(l) Is it truo that the anima which eats the most bananas in a week must be a gorilla?

Give a reason for your answer

Answer: YES/NO

(u) Is it true that the mean number of bananas eaten by one of these animals s 2:3’7
Gwe a reason for your answer.

Answer: YES/NO . - : EH
REASOM: weiorereeeressereessesearstesnssensssssasasss .............................
.................................................................................................................. ()
(Total marks: 100)
'S.A. 28310326 : '. | 16
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